Ly L T A ER A TS T - ORE A )

O &K (FoK ki a)

FN7AFE

§ E g % |l 48 150
I % A ImL [ 100 0
9 B sl Ithisn g
S RFIY AR OE DAL A B me/L | 0.003 ]0.0003AT
4Pk 8 & 8 & © & & | me/L | 0.0005 |0.00005Ai
5l v v Bz ok A B mgL | 0.01]0.0014K
6l K 8 = o b & | me/L | 0.01 | 0.001A7
Tl & kB O 2 0o b A& B mgL | 0.01|0.001A4
8~ Mi 7 v & f A& | me/L | 0.02 | 0.002475
9l m ® & = F| me/L | 0.04 ]| 0.004A
0|7t a4 Loty 7| me/l | 0.01 | 0.0015H
11 |l e fe 42 %8 R OF YRR RE & | me/L [ 10 0.6
1217 v % k % © b & W mg/L | 0.8 0.25
Blx v #F k 2 oM & W mgL | 1.0 | 01K
14 |4 # 1k 175 #| me/L | 0.002 |0.00025K7i
15|14~ ¥ A % % | mg/L | 0.05 | 0.005A7
[ 2 BN T L Y] men | 0,04 | 0.0045ki
17y 7 v om %X & | mg/L | 0.02 ] 0.002HK ]
Bl % 72 e = F L o mgt |0.01]0.001K]H
9k vV 7 2 v = F v > mgL |0.01]0.001H4H
20 |-= v + > meg/L | 0.01 | 0.001AKif
21 |t =S el mg/L | 0.6 | 0.065K
22 |7 = = e 2| me/l | 0.02 | 0.00277
2l = = & A Al myr |0.06] 0.004
241 v 9w w  EF BB meg/L | 0.03 0.004
251 7w ® 7 v om A & | mg/L | 0.1 |0.001A
26 | 5 ES el me/t | 0.01 | 0.001 K7
ol ~ v v v o2 x| mgL | 0.1 0.005
28I U 7 m v EE EB[ megL [ 0.03]| 0.004
2917 v ® ¥ 7 mom A & o mgl |0.03] 0.001
307 = = & o Al mer | 0.09]0.001 K5
3l A~ & 7 A F v K| mgL | 0.08 ] 0.008AK
20 ¢ Kk Y = o b A& | mgL [ 1.0 | 0.055
BT A= AR RZEOLE W mgL | 0.2 0.03
Mg K O = o b & #| mgl | 0.3 | 0.03FAKIw
B Kk Y = o b & W mgL | 1.0 | 0.05A7
367 FU Y AR BE DAL A W mgL | 200 6
3Tl v # v k"% @ fb & | meg/L | 0.05 | 0.005A
38l &t W A4 A | mgL | 200 6
9y a, v s kv as (EE)| mg/L | 300 34
40 |78 ¥ % & Y| meg/L [ 500 75
41 4 A v A/ omoiE M A me/n | 0.2 | 0.027
421> - 7 A N | me/L | 0.00001 §0.000001 AT
4312 — A F v A4V R L % A4 — | mg/L | 0.00001 J0.000001 4555
4413 4 A » R m I& M Al me/L | 0.02 | 0.002A
4507 = o — o HE| me/n | 0.005 |0.000574
46|16 # » ( TOC © & )| mgrL | 3 0.7
47 o 1 fis N I
48 I wol ] BERL
49 |5 & w | BEleL
50 | B 5 1A
51 | El B 2 0. 1A

V55 W i) F| mg/L |01k 0.5




AT b FAKGEEA IR 20T - OKERARR)
@ EE K Riian Kk (EBB AR — H = 5T)

F07ABE

o om g 4 v mlrww| 45158
I fix gt L | 100 0
2 5 RS st
3 RFIT A K OZE DA W me/L | 0.003 |0.0003A1
4Pk 8 & O 2 © b & | meg/L | 00005 [0.00005Ai
5l v v kO % ot & ¥ me/L | 0.01 ]| 0.001A7
6 [6n & O &= o b A #| me/L | 0.01 | 0.001AT
Tl F K O 2 © b A& | mgL | 0.01 | 0.001A4T
gl i 7 v & fb & | me/L | 0.02 | 0.0025K7
9 8 Ay B f& % F| me/L | 0.04 | 0.004AK
107 fe® A4+ Otfifb sy 7| meg/l | 0.01 | 0.001F7
11 @y W fe 22 % % OY R Al A% B % #E| me/L | 10 0.6
1217 v % K 00 % o b & % mgL | 0.8 0.23
Bl v #F kK ® 2 o fe & W meg/L | 1.0 | 0.1K
14 |Y i} 1t R #| me/L | 0.002 [0.0002 A7
15[1,4- ¥ & % ¥ | mg/L | 0.05 | 0.005A7
1672 R n T Y] me | 004 | 0.0045k
171y 7 v v A & | mg/L | 0.02 | 0.002747H
1817 F 9 7 v v = F L > mgL | 0.01]0.0015H
9(F vV 7 2w = F v o myL | 0.01 ]| 0.001AK7H
20 [~ v + > me/L | 0.01 | 0.001K7iti
21 |4 % M| meg/L | 0.6 | 0.06A7
22 |7 = = e M| me/L | 0.02 | 0.002Aif
27 v v &k 4 A megL | 0.06| 0.007
241 v owm m EE EE| me/L | 0.03 | 0.003AT
25 7 m & 7 mom 2 & v mg/L | 0.1 |0.001AK
26 |~ % | me/L | 0.01 | 0.001A7i
oThe U v = 2 & | mgL | 0.1 0.009
28I U 7 v v EE B me/L | 0.03| 0.012
297 v = ¥ 7 mow X & ¥ mgL |0.03| 0.002
307 v = & Al mgL | 0.09 | 0.0015
31f&c » &~ 7 A F v K| mgL |0.08 | 0.008
20H s Kk O o L & # mgL | 1.0 | 0.055K3
BITAI=T AR OZE DA W mgL | 0.2 0.03
Mgk kK O &= o b & #| mgL | 0.3 | 0.03K3H
BIg K O = o b & #| megL | 1.0 | 0.055K3
367 RV Y A K E DAL A W] meL | 200 6
37|~ v v k% oAt & #| me/l | 0.05 | 0.005A
38l b w4 A | mgL | 200 6
9Py on, v 7 xvr % (HE) mg/L 300 36
40 | I % & Y| me/L | 500 75
41| 4 A > K om % M Al me/t | 0.2 | 0.025K
42 1> - 7 A N | mg/L | 0.00001 |0.000001 A
4312 = A F Vv A4 Y R )V XA — | mg/L | 000001 [0.000001 ik
4413 4 A v B omE IE M Al me/L | 0.02 | 0.002A T
4517 = 2 — o M| me/n | 0.005 [0.0005A
465 H H ( TOC o H )| mg/L 3 0.5
47 [p H fi e 74
48 I P EEeL
49 | 5 & A BEeL
50 [ BE| OB 5 1A
51 | O 2 0. 1A

7 Il e F| mg/L |01k 0.3




LR T ARER A TR ONERA RS R

@B /K G/ kiR 0)

F07ABE

o om g 4 v mlrww| 45158
I fix gt L | 100 0
2 5 RS st
3 RFIT A K OZE DA W me/L | 0.003 |0.0003A1
4Pk 8 & O 2 © b & | meg/L | 00005 [0.00005Ai
5l v v kO % ot & ¥ me/L | 0.01 ]| 0.001A7
6 [6n & O &= o b A #| me/L | 0.01 | 0.001AT
Tl F K O 2 © b A& | mgL | 0.01 | 0.001A4T
gl i 7 v & fb & | me/L | 0.02 | 0.0025K7
9 8 Ay B f& % F| me/L | 0.04 | 0.004AK
W07ttty kossy 7| meg/l | 0.01 | 0.00157H
11 @y W fe 22 % % OY R Al A% B % #E| me/L | 10 0.6
1217 v % K 00 % o b & % mgL | 0.8 0.24
Bl v #F kK ® 2 o fe & W meg/L | 1.0 | 0.1K
14 |Y i} 1t R #| me/L | 0.002 [0.0002 A7
15[1,4- ¥ & % ¥ | mg/L | 0.05 | 0.005A7
1672 R n T Y] me | 004 | 0.0045k
171y 7 v v A & | mg/L | 0.02 | 0.002747H
1817 F 9 7 v v = F L > mgL | 0.01]0.0015H
9(F vV 7 2w = F v o myL | 0.01 ]| 0.001AK7H
20 [~ v + > me/L | 0.01 | 0.001K7iti
21 |4 % M| meg/L | 0.6 | 0.06A7
22 |7 = = e M| me/L | 0.02 | 0.002Aif
27 = v & o A megL | 0.06 | 0.001FK7
241 v owm m EE EE| me/L | 0.03 | 0.003AT
25 7 m & 7 mom 2 & v mg/L | 0.1 |0.001AK
26 |~ % | me/L | 0.01 | 0.001A7i
27 + U o~ wm X & | mg/L | 0.1 | 0.001A7if
28I U 7w v EE R me/L | 0.03 | 0.003AH
297 v ¥ 7 v w2 & o mgL | 0.03]0.00147
307 v = & Al mgL | 0.09 | 0.0015
31f&c » &~ 7 A F v K| mgL |0.08 | 0.008
20H s Kk O o L & # mgL | 1.0 | 0.055K3
BITAMI=U LK OZDOAE W m/L | 0.2 | 0.02K7H
Mgk kK O &= o b & #| mgL | 0.3 | 0.03K3H
Bl & ™ o (& W met | 1.0 | 0.055K7
367 RV Y A K E DAL A W] meL | 200 6
37|~ v v k% oAt & #| me/l | 0.05 | 0.005A
38l b w4 A | mgL | 200 5
9Py on, v 7 xvr % (HE) mg/L 300 37
40 | I % & Y| me/L | 500 77
41| 4 A > K om % M Al me/t | 0.2 | 0.025K
42 1> - 7 A N | mg/L | 0.00001 |0.000001 A
4312 = A F Vv A4 Y R )V XA — | mg/L | 000001 [0.000001 ik
4413 4 A v B omE IE M Al me/L | 0.02 | 0.002A T
4517 = 2 — o M| me/n | 0.005 [0.0005A
465 H H ( TOC o H )| mg/L 3 0.5
47 [p H fi e 73
48 S P EEeL
49 | 5 & A BEeL
50 [ BE| OB 5 1A
51 | O 2 0. 1A

7 Il e F| mg/L |01k 0.5




AT b FAKGEEA IR 20T - OKERARR)
DI KGR bt fa KA (RS BREL /K R mE — i)

F07ABE

o om g 4 v mlrww| 45158
I fix gt L | 100 0
2 5 RS st
3 RFIT A K OZE DA W me/L | 0.003 |0.0003A1
4Pk 8 & O 2 © b & | meg/L | 00005 [0.00005Ai
5l v v kO % ot & ¥ me/L | 0.01 ]| 0.001A7
6 [6n & O &= o b A #| me/L | 0.01 | 0.001AT
Tl F K O 2 © b A& | mgL | 0.01 | 0.001A4T
gl i 7 v & fb & | me/L | 0.02 | 0.0025K7
9 8 Ay B f& % F| me/L | 0.04 | 0.004AK
W07ttty kossy 7| meg/l | 0.01 | 0.00157H
11 @y W fe 22 % % OY R Al A% B % #E| me/L | 10 0.6
1217 v % K 00 % o b & % mgL | 0.8 0.24
Bl v #F kK ® 2 o fe & W meg/L | 1.0 | 0.1K
14 |Y i} 1t R #| me/L | 0.002 [0.0002 A7
15[1,4- ¥ & % ¥ | mg/L | 0.05 | 0.005A7
1672 R n T Y] me | 004 | 0.0045k
171y 7 v v A & | mg/L | 0.02 | 0.002747H
1817 F 9 7 v v = F L > mgL | 0.01]0.0015H
9(F vV 7 2w = F v o myL | 0.01 ]| 0.001AK7H
20 [~ v + > me/L | 0.01 | 0.001K7iti
21 |4 % M| meg/L | 0.6 | 0.06A7
22 |7 = = e M| me/L | 0.02 | 0.002Aif
27 v 9w &k A A meyr | 0.06| 0.001
241 v owm m EE EE| me/L | 0.03 | 0.003AT
25 7 m & 7 mom 2 & v mg/L | 0.1 |0.001AK
26 |~ % | me/L | 0.01 | 0.001A7i
oThe U v = 2 & | mgL | 0.1 0.002
28I U 7w v EE R me/L | 0.03 | 0.003AH
297 v = ¥ 7/ mow XA & > mgL |0.03| 0.001
307 v = & Al mgL | 0.09 | 0.0015
31f&c » &~ 7 A F v K| mgL |0.08 | 0.008
20H s Kk O o L & # mgL | 1.0 | 0.055K3
BITAMI=U LK OZDOAE W m/L | 0.2 | 0.02K7H
Mgk kK O &= o b & #| mgL | 0.3 | 0.03K3H
Bl & ™ o (& W met | 1.0 | 0.055K7
367 RV Y A K E DAL A W] meL | 200 7
37|~ v v k% oAt & #| me/l | 0.05 | 0.005A
38l b w4 A | mgL | 200 5
9Py on, v 7 xvr % (HE) mg/L 300 40
40 | I % & Y| me/L | 500 79
41| 4 A > K om % M Al me/t | 0.2 | 0.025K
42 1> - 7 A N | mg/L | 0.00001 |0.000001 A
4312 = A F Vv A4 Y R )V XA — | mg/L | 000001 [0.000001 ik
4413 4 A v B omE IE M Al me/L | 0.02 | 0.002A T
4517 = 2 — o M| me/n | 0.005 [0.0005A
465 H H ( TOC o H )| mg/L 3 0.5
47 [p H fi e 73
48 S P EEeL
49 | 5 & A BEeL
50 [ BE| OB 5 1A
51 | O 2 0. 1A

7 Il e F| mg/L |01k 0.4




LR T ARER A TR ONERA RS R

ORLFEE KIS G kit a)

F07ABE

o om g 4 v mlrww| 45158
I fix gt L | 100 0
2 5 RS st
3 RFIT A K OZE DA W me/L | 0.003 |0.0003A1
4|k £ K& O & © b A& | mg/L | 0.0005 —
5l v v & % o ik & | megr | 0.01]0.001A7
6 [6n & O &= o b A #| me/L | 0.01 | 0.001AT
Tl F K O 2 © b A& | mgL | 0.01 | 0.001A4T
gl i 7 v & fb & | me/L | 0.02 | 0.0025K7
9| M ® B =¥ H| mgL | 0.04 —
W07ttty kossy 7| meg/l | 0.01 | 0.00157H
11 |A8 B2 Be 28 38 M OV i % & % | me/L 10 —
1217 v % K 00 % o b & % mgL | 0.8 0.35
Bl v #F kK ® 2 o fe & W meg/L | 1.0 | 0.1K
14 |Y i} 1t R #| me/L | 0.002 [0.0002 A7
15[1,4- ¥ & % ¥ | mg/L | 0.05 | 0.005A7
1672 R n T Y] me | 004 | 0.0045k
171y 7 v v A & | mg/L | 0.02 | 0.002747H
1817 F 9 7 v v = F L > mgL | 0.01]0.0015H
9(F vV 7 2w = F v o myL | 0.01 ]| 0.001AK7H
20 [~ v + > me/L | 0.01 | 0.001K7iti
21 |4 % M| me/L | 0.6 | 0.06A7
22 |7 = = e M| me/L | 0.02 | 0.002Aif
27 = v & o A megL | 0.06 | 0.001FK7
24l 7 0w wm EE B me/L | 0.03 | 0.003A
25 7 m & 7 mom 2 & v mg/L | 0.1 |0.001AK
26 |~ % | me/L | 0.01 | 0.001A7i
27 + U o~ wm X & | mg/L | 0.1 | 0.001A7if
28I U 7w v EE R me/L | 0.03 | 0.003AH
297 v ¥ 7 v w2 & o mgL | 0.03]0.00147
307 v = & Al mgL | 0.09 | 0.0015
31f&c » &~ 7 A F v K| mgL |0.08 | 0.008
20H s Kk O o L & # mgL | 1.0 | 0.055K3
BITAMI=U LK OZDOAE W m/L | 0.2 | 0.02K7H
Mgk kK O &= o b & #| mgL | 0.3 | 0.03K3H
Bl & ™ o (& W met | 1.0 | 0.055K7
367 RV Y A K E DAL A W] meL | 200 8
37|~ v v B X% Ot & #| me/L | 0.05 | 0.005Ai
38l b w4 A | mgL | 200 6
9Py on, v 7 xvr % (HE) mg/L 300 —
40 | I % & Y| me/L | 500 94
A1k 4 A& » F m 7% M Al me/L | 0.2 —
42 IV - 7+ 2 2 | mg/L | o.00001 —
4312 — AF L A4 VR )L % F — | mg/L | 0.00001 —
4413 4 A v B omE IE M Al me/L | 0.02 | 0.002A T
4517 el J — % FH| mg/L 0. 005 —
465 H H ( TOC o H )| mg/L 3 0.4
47 [p H fi e 73
48 S P EEeL
49 | 5 & A BEeL
50 [ BE| OB 5 1A
51 | O 2 0. 1A

7 Il e F| mg/L |01k 0.5




AT b FAKGEEA IR 20T - OKERARR)
OFHF KGRt fa KR (B FHERL KR AT — 1% )

F07ABE

o om g 4 v mlrww| 45158
I fix gt L | 100 0
2 5 RS st
3 RFIT A K OZE DA W me/L | 0.003 |0.0003A1
4|k £ K& O & © b A& | mg/L | 0.0005 —
5l v v kO % ot & ¥ me/L | 0.01 ]| 0.001A7
6 [6n & O &= o b A #| me/L | 0.01 | 0.001AT
Tl F K O 2 © b A& | mgL | 0.01 | 0.001A4T
gl i 7 v & fb & | me/L | 0.02 | 0.0025K7
9| M ® B =¥ H| mgL | 0.04 —
W07ttty kossy 7| meg/l | 0.01 | 0.00157H
11 |A8 B2 Be 28 38 M OV i % & % | me/L 10 —
1217 v % K 00 % o b & % mgL | 0.8 0.36
Bl v #F kK ® 2 o fe & W meg/L | 1.0 | 0.1K
14 |Y i} 1t R #| me/L | 0.002 [0.0002 A7
15[1,4- ¥ & % ¥ | mg/L | 0.05 | 0.005A7
1672 R n T Y] me | 004 | 0.0045k
171y 7 v v A & | mg/L | 0.02 | 0.002747H
1817 F 9 7 v v = F L > mgL | 0.01]0.0015H
9(F vV 7 2w = F v o myL | 0.01 ]| 0.001AK7H
20 [~ v + > me/L | 0.01 | 0.001K7iti
21 |4 % M| me/L | 0.6 | 0.06A7
22 |7 = = e M| me/L | 0.02 | 0.002Aif
237 v v &k A A megL | 0.06| 0.002
241 v owm m EE EE| me/L | 0.03 | 0.003AT
251 7w ® 7 vowm A & v mg/L | 0.1 0.002
26 |~ % | me/L | 0.01 | 0.001A7i
oThe U v = 2 & | mgL | 0.1 0.006
28I U 7w v EE R me/L | 0.03 | 0.003AH
297 v = ¥ 7 mow X & ¥ mgL |0.03| 0.002
307 v = & Al mgL | 0.09 | 0.0015
31f&c » &~ 7 A F v K| mgL |0.08 | 0.008
20H s Kk O o L & # mgL | 1.0 | 0.055K3
BITAMI=U LK OZDOAE W m/L | 0.2 | 0.02K7H
Mgk kK O &= o b & #| mgL | 0.3 | 0.03K3H
Bl & ™ o (& W met | 1.0 | 0.055K7
367 RV Y A K E DAL A W] meL | 200 8
37|~ v v k% oAt & #| me/l | 0.05 | 0.005A
38l b w4 A | mgL | 200 6
9Py on, v 7 xvr % (HE) mg/L 300 —
40 | I % & Y| me/L | 500 92
A1k 4 A& » F m 7% M Al me/L | 0.2 —
42 IV - 7+ 2 2 | mg/L | o.00001 —
4312 — AF L A4 VR )L % F — | mg/L | 0.00001 —
4413 4 A v B omE IE M Al me/L | 0.02 | 0.002A T
4517 el J — % FH| mg/L 0. 005 —
465 H H ( TOC o H )| mg/L 3 0.4
47 [p H fi e s
48 S P EEeL
49 | 5 & A BEeL
50 [ BE| OB 5 1A
51 | O 2 0. 1A

7 Il e F| mg/L |01k 0.2




AT b FAKGEEA IR 20T - OKERARR)
DI K G Rt fa /KRR CNSBELAKCRAE —/NE)

F07ABE

o om g 4 v mleww] 4HSH
I fix gt L | 100 0
2 5 RS st
3 RFIT A K OZE DA W me/L | 0.003 |0.0003A1
4Pk 8 & O 2 © b & | meg/L | 00005 [0.00005Ai
5l v v kO % ot & ¥ me/L | 0.01 ]| 0.001A7
615 & O £ o b A | meg/L | 0.01 0.001
Tl F K O 2 © b A& | mgL | 0.01 | 0.001A4T
gl i 7 v & fb & | me/L | 0.02 | 0.0025K7
9 8 Ay B f& % F| me/L | 0.04 | 0.004AK
W07ttty kossy 7| meg/l | 0.01 | 0.00157H
11 @y W fe 22 % % OY R Al A% B % #E| me/L | 10 0.7
1217 v % K 00 % o b & % mgL | 0.8 0.23
Bl v #F kK ® 2 o fe & W meg/L | 1.0 | 0.1K
14 |Y i} 1t R #| me/L | 0.002 [0.0002 A7
15[1,4- ¥ & % ¥ | mg/L | 0.05 | 0.005A7
1672 R n T Y] me | 004 | 0.0045k
171y 7 v v A & | mg/L | 0.02 | 0.002747H
1817 F 9 7 v v = F L > mgL | 0.01]0.0015H
9(F vV 7 2w = F v o myL | 0.01 ]| 0.001AK7H
20 [~ v + > me/L | 0.01 | 0.001K7iti
21 |4 % M| me/L | 0.6 | 0.06A7
22 |7 = = e M| me/L | 0.02 | 0.002Aif
237 v 9w & a4 A meL | 0.06| 0.003
241 v owm m EE EE| me/L | 0.03 | 0.003AT
251 7w ® 7 vowm A & v mg/L | 0.1 0.001
26 |~ % | me/L | 0.01 | 0.001A7i
oThe U v = 2 & | mgL | 0.1 0.006
28I U 7w v EE R me/L | 0.03 | 0.003AH
297 v = ¥ 7 mow X & ¥ mgL |0.03| 0.002
307 v = & Al mgL | 0.09 | 0.0015
31f&c » &~ 7 A F v K| mgL |0.08 | 0.008
20H s Kk O o L & # mgL | 1.0 | 0.055K3
BITAMI=U LK OZDOAE W m/L | 0.2 | 0.02K7H
Mgk kK O &= o b & #| mgL | 0.3 | 0.03K3H
Bl & ™ o (& W met | 1.0 | 0.055K7
367 RV Y A K E DAL A W] meL | 200 6
37|~ v v k% oAt & #| me/l | 0.05 | 0.005A
38l b w4 A | mgL | 200 5
9Py on, v 7 xvr % (HE) mg/L 300 38
40 | I % & Y| me/L | 500 71
41| 4 A > K om % M Al me/t | 0.2 | 0.025K
42 1> - 7 A N | mg/L | 0.00001 |0.000001 A
4312 = A F Vv A4 Y R )V XA — | mg/L | 000001 [0.000001 ik
4413 4 A v B omE IE M Al me/L | 0.02 | 0.002A T
4517 = 2 — o M| me/n | 0.005 [0.0005A
465 H H ( TOC o H )| mg/L 3 0.4
47 [p H fi IR ¢
48 S P EEeL
49 | 5 & A BEeL
50 [ BE| OB 5 1A
51 | O 2 0. 1A

7 Il e F| mg/L |01k 0.4




AT b FAKGEEA IR 20T - OKERARR)
@ F KGRt fa K (6 BBl RmE — 55 &)

F07ABE

o om g 4 v mleww] 4HSH
1 |— iy bt ImLt 100 0
2 5 RS st
3 RFIT A K OZE DA W me/L | 0.003 |0.0003A1
4Pk 8 & O 2 © b & | meg/L | 00005 [0.00005Ai
5l v v & % o ik & | megr | 0.01]0.001A7
6 [6n & O &= o b A #| me/L | 0.01 | 0.001AT
Tl F K O 2 © b A& | mgL | 0.01 | 0.001A4T
gl i 7 v & fb & | me/L | 0.02 | 0.0025K7
9 8 Ay B f& % F| me/L | 0.04 | 0.004AK
W07ttty kossy 7| meg/l | 0.01 | 0.00157H
11 @y W fe 22 % % OY R Al A% B % #E| me/L | 10 0.7
1217 v % K 00 % o b & % mgL | 0.8 0.24
Bl v #F kK ® 2 o fe & W meg/L | 1.0 | 0.1K
14 |Y i} 1t R #| me/L | 0.002 [0.0002 A7
15[1,4- ¥ & % ¥ | mg/L | 0.05 | 0.005A7
1672 R n T Y] me | 004 | 0.0045k
171y 7 v v A & | mg/L | 0.02 | 0.002747H
1817 F 9 7 v v = F L > mgL | 0.01]0.0015H
9(F vV 7 2w = F v o myL | 0.01 ]| 0.001AK7H
20 [~ v + > me/L | 0.01 | 0.001K7iti
21 |1 =S M| me/l | 0.6 0.11
22 |7 = = e M| me/L | 0.02 | 0.002Aif
237 v v &k A A meL | 0.06] 0.004
241 v owm m EE EE| me/L | 0.03 | 0.003AT
251 7w ® 7 vowm A & v mg/L | 0.1 0.001
26 |~ % | me/L | 0.01 | 0.001A7i
oThe U v = 2 & | mgL | 0.1 0.007
28| U 7 v v EE B me/L | 0.03| 0.003
297 v = ¥ 7 mow X & ¥ mgL |0.03| 0.002
307 v = & Al mgL | 0.09 | 0.0015
31f&c » &~ 7 A F v K| mgL |0.08 | 0.008
20H s Kk O o L & # mgL | 1.0 | 0.055K3
BITAMI=U LK OZDOAE W m/L | 0.2 | 0.02K7H
Mgk kK O &= o b & #| mgL | 0.3 | 0.03K3H
Bl & ™ o (& W met | 1.0 | 0.055K7
367 RV Y A K E DAL A W] meL | 200 6
37|~ v v k% oAt & #| me/l | 0.05 | 0.005A
38l b w4 A | mgL | 200 4
9Py on, v 7 xvr % (HE) mg/L 300 38
40 | I % & Y| me/L | 500 72
41| 4 A > K om % M Al me/t | 0.2 | 0.025K
42 1> - 7 A N | mg/L | 0.00001 |0.000001 A
4312 — A F v A4V R )b 3R A — JL| mg/L | 0.00001 [0.000001 A
4413 4 A v B omE IE M Al me/L | 0.02 | 0.002A T
4517 = 2 — o M| me/n | 0.005 [0.0005A
465 H H ( TOC o H )| mg/L 3 0.4
47 [p H fi e 7T
48 S P EEeL
49 | 5 & Bl | BERL
50 [ BE| OB 5 1A
51 | O 2 0. 1A

53 o oy #| mg/L | o018k 0.5




AT b FAKGEEA IR 20T - OKERARR)
@R KGR bt Aa KR (B 77 Bl KR — &= k)

ﬁ 5 H 4w pr| e | 45 10H
1| fix il mLf | 100 0
2 i BT [mttisn g
SIWRFIU L KO Z DG W me/L |0.003 —
4k 8 & O % © b & | me/L | 00005 —
5l v Kk O % oA W mg/L |0.01 —
600 K O £ o b A& | mgL |0.01 —
Tl F k O % o b A& | me/L [0.01 —
8N M 7 wm & f & | me/L |0.02 —
9 |H M M B = HFE| meg/L |0.04 —
107 A4 kAL T | mg/L [0.01 —
11 |fH B2 Re %2 38 K& OVl AY MR B =€ | me/L 10 —
1217 v %2 & " % © b & | mg/L | 0.8 —
Bl F K O 0 A ® ngL | 1.0 —
14 {19 i) 1t 1% F#| me/L | 0.002 —
1511,4- % 7 e va > mg/L ] 0.05 —
67 R E T e fo0n | —
7 7 o 0=m w A& v mg/L [0.02 —
87 v 7 7 m v = F L v mg/L [0.01 —
9|V 72 v v = F L ¥ mgL [0.01 —
20 |- Ve N > mg/L |0.01 —
21 |3 ES il meg/L | 0.6 —
22|17 = = P f2| mg/L |0.02 —
237 o I R V% A mg/L 0. 06 —
24 |> 7 =: = i3 il me/L |0.03 —
25 7 v ® 7/ mm A X v mgL | 0.1 —
26 | = e iz me/L [0.01 —
271 b~ U o~ m X X f mg/L | 0.1 —
281 V27 ow m FE O BE| me/L [0.03 —
29|17 v ® v 7 mnmr A% ¥V mg/L [0.03 —
307 = £ AR JV Ll mg/L | 0.09 —
3l|x &~ 7 s F b K| mg/L [0.08 —
3208 & & O %= o b A& M| megL | 1.0 —
BT AI=ULKOPZEDOA AW mg/L | 0.2 —
Mk kX O & o b A& W me/L | 0.3 —
Bl Kk = o b A& W mgL | 1.0 —
6T VT A K OZE DAL A W mg/L | 200 —
37|~ v 7 v kX% 04k & W meg/L |0.05 —
38 |i& e 27| A 7 | mg/L 200 )
9 vn, v 72y A% (8 E)| mg/L 300 —
40 |7 s b33 ¥ ¥ me/l | 500 —
41k 4 & » F om & M Al me/L | 0.2 —
42 IV - 7+ 2 N | me/L | 0.00001 —
4312 — A F LV A4V R L 2 F — /| mg/L | 000001 —
44138 4 A& » Fom & M Al meg/L [0.02 —
45 |7 - J — Jb ¥A| me/L | 0.005 —
46|15 H # ( TOC @ & )| me/L 3 0.3
47 [p H fit 25 14
48 bk m | BAERL
49 |5 A | BEZRL
50 |t | 5 LA
51 | | 2 0. 1Al
33 5” i) #E| mg/L |01k 0.3




AT b FAKGEEA IR 20T - OKERARR)
O = & K SR bt fa KR ORI Bl K R me — BUE)

ﬁ H E & e prjsE gl 45 10H
1| fix il mLf | 100 0
2 i RISk [mtisny
SIHWRFIU L KO Z DG | me/L | 0003 —
41k 8 & O % © b & | me/L | 0.0005 —
bl v k& o kA W meL | 0.01 —
6% K O £ o b & M meg/L | 0.01 —
Tl & k O 2 o b & ¥ me/L | 0.01 —
8N i 7 v A f & M| me/L | 0.02 —
9 |H M M B = FE| mg/L | 0.04 —
107 A4 kAL T mg/L | 0.01 —
11 |fH B2 Re %2 38 K& OVl AY MR B =€ | me/L 10 —
1217 v % & 0" 2 © b & ¥| me/L 0.8 —
13l v %F k& O 2 o b & # meg/L | 1.0 —
14 {19 i) 1t 1% F#| me/L | 0.002 —
1511,4- % 7 e va > mg/L | 0.0b —
[ T 5T e [ow |
71y 7 = v A & v mg/L | 0.02 —
87 7 7 m v = F L v mgL |0.01 —
9 ¥V 7 v v = F L ¥ mgL |0.01 —
20 | Ve N > mg/L | 0.01 —
21 |3 ES el mg/L | 0.6 —
22|17 = = P f2| mg/L | 0.02 —
237 o I R V% Al mg/L | 0.06 —
241~ 7 = =2 HE B2 me/L | 0.03 —
25 7 v 2 7 mom XA & U mgL | 0.1 —
26 | = # izl mg/L. | 0.01 —
27T~ U o |m A X | mg/L 0.1 —
281 V7 ow v FE Rl meg/L | 0.03 —
29|17 v ® v 7 vnmw A % ¥ mgL |0.03 —
307 = £ AR JV L mg/L | 0.09 —
3| x v &~ 7 v F B K|l mg/L |0.08 —
3208 & & O %= o bt A M| mgL | 1.0 —
BTV I=T LK OZE DAL E W meg/L | 0.2 —
Mk X O = o b A& | megL | 0.3 —
Bl Kk ™ = o {b A& W mgL | 1.0 —
6T VT A K OEZE DG P mg/L | 200 —
3T~ v v k% @ ft & | meg/L | 0.05 —
38 |i& e 27| A 7 | mg/L 200 6
9 vn, v 72y A% (8 E)| mg/L 300 —
40 |7 % b33 ¥ ¥| me/L | 500 —
411k (4 & » F om & M Al me/L | 0.2 —
42 IV - 7+ 2 2 | mg/L | o.00001 —
4312 = AF v A4V R v 2 A — Jb| mg/L | 0.00001 —
44138 4 A » Fom & M Al me/L | 0.02 —
45 |7 - J — Jb ¥H| me/L | 0.005 —
46|15 H # ( TOC @ & )| me/L 3 0.4
47 [p H fi e 78
48 IS Rl BEL
49 (& K Aol | EEZRL
50 | | 5 LA
51 | L 2 0. 1Al
33 5” i) #E| mg/L 0.1 8Lk 0.2




AIRT BT KEE SRR OKEMRAERR)
ODlEE K Rweka Ak (R KR — 818 L)

f 15 H 4 W fr|m el 4H3H
1| ik gl L | 100 0
2 |k i B sy
3P FIT LAk BEZE DAL A W] me/l | 0.003 —
41Kk 8B Kk O 2 O b & | me/L | 0.0005 —
5l v v kO o ik A& ¥ me/L | 0.01 —
618 X 8 £ o {b A | meg/L | 0.01 —
Tl F K O O b & ¥ me/L | 0.01 —
PN i 7 v A Ak & #| me/L | 0.02 —
9l m M R =  FE| mg/L | 0.04 —
1007 e A4k Ok 7 mg/L | 0.01 —
11 |6H B2 e 2 3 K& OVl A e B8 =2 3B me/L 10 —
1217 v & k " 2 ® &b & | mg/L | 0.8 —
B v #F K O£ 0 f & % mg/L | 1.0 —
14 | i {k R F| me/L | 0.002 —
511,4- ¥ #F *F ¥ | mg/L | 0.05 —
s e
17l 7 w owm A 2 mg/L | 0.02 —
8|7 7 7 m v = F L v mgl |0.01 —
9~ v 7 v v = F L v mgL |0.01 —
20 | N + “| mg/L | 0.01 —
21 | F i mg/L | 0.6 —
2210 = = e f2| me/L | 0.02 —
2317 = = R v A mg/L | 0.06 —
24 7 9w =m  FE BBl mg/L | 0.03 —
25 7 7 vom AKX U mg/L | 0.1 —
26 | = ES f2| mg/L | 0.01 —
27 K U ooy om A X2 v mg/L | 0.1 —
28| U 7 wm wm  EE PRl mg/L | 0.03 —
29|17 v ® ¥V 7 v 8r A% U mgLl|0.03 —
017 = £ A& A 4| mg/L | 0.09 —
3L v A 7 v 7 B F| meg/L | 0.08 —
20 4 & O 2 o b & | mg/L | 1.0 —
BT AI=U LK EDOAE Y mg/L | 0.2 —
Ml k % o b A& | me/L | 0.3 —
B &k O o b & | meg/L | 1.0 —
367 RV T A K OE DA A B me/L | 200 —
M|~ v v kO DAk & W meg/L | 0.05 —
38 & e 7 A 7 | mg/L 200 7
9o s, w32y A% (EE)] mg/L 300 —
40 |7 7 b3 %’ ¥ mg/L | 500 —
41k 4 A& » / om 3 M Al me/L | 0.2 —
42 v - 7 A N | mg/L | 0.00001 —
4312 — AF v A4 VR )V R A — Jb| mg/L | 0.00001 —
418 4 & o Fom i M F| me/L | 0.02 —
45|~ e J — b JH| mg/L | 0.005 —
46|1FH % ® ( TOC » =& )| me/L 3 0.4
47 o 1 fi R I
48 S PG Bl
49 5 = wo | BEARL
50 | Bl 5 1A it
51 | | 2 0. 1A
b3 e i) F| mg/L |01k 0.4
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ﬁ H H 4 |w |kl 4H3H
1| fix il mLf | 100 0
2 i RISk [mtisny
SIHWRFIU L KO Z DG | me/L | 0003 —
41k 8 & O % © b & | me/L | 0.0005 —
bl v k& o kA W meL | 0.01 —
6% K O £ o b & M meg/L | 0.01 —
Tl & k O 2 o b & ¥ me/L | 0.01 —
8N i 7 v A f & M| me/L | 0.02 —
9 |H M M B = FE| mg/L | 0.04 —
107 A4 kAL T mg/L | 0.01 —
11 |fH B2 Re %2 38 K& OVl AY MR B =€ | me/L 10 —
1217 v % & 0" 2 © b & ¥| me/L 0.8 —
13l v %F k& O 2 o b & # meg/L | 1.0 —
14 {19 i) 1t 1% F#| me/L | 0.002 —
1511,4- % 7 e va > mg/L | 0.0b —
[ T 5T e [ow |
71y 7 = v A & v mg/L | 0.02 —
87 7 7 m v = F L v mgL |0.01 —
9 ¥V 7 v v = F L ¥ mgL |0.01 —
20 | Ve N > mg/L | 0.01 —
21 |3 ES el mg/L | 0.6 —
22|17 = = P f2| mg/L | 0.02 —
237 o I R V% Al mg/L | 0.06 —
241~ 7 = =2 HE B2 me/L | 0.03 —
25 7 v 2 7 mom XA & U mgL | 0.1 —
26 | = # izl mg/L. | 0.01 —
27T~ U o |m A X | mg/L 0.1 —
281 V7 ow v FE Rl meg/L | 0.03 —
29|17 v ® v 7 vnmw A % ¥ mgL |0.03 —
307 = £ AR JV L mg/L | 0.09 —
3| x v &~ 7 v F B K|l mg/L |0.08 —
3208 & & O %= o bt A M| mgL | 1.0 —
BTV I=T LK OZE DAL E W meg/L | 0.2 —
Mk X O = o b A& | megL | 0.3 —
Bl Kk ™ = o {b A& W mgL | 1.0 —
6T VT A K OEZE DG P mg/L | 200 —
3T~ v v k% @ ft & | meg/L | 0.05 —
38 |i& e 27| A 7 | mg/L 200 7
9 vn, v 72y A% (8 E)| mg/L 300 —
40 |7 % b33 ¥ ¥| me/L | 500 —
411k (4 & » F om & M Al me/L | 0.2 —
42 IV - 7+ 2 2 | mg/L | o.00001 —
4312 = AF v A4V R v 2 A — Jb| mg/L | 0.00001 —
44138 4 A » Fom & M Al me/L | 0.02 —
45 |7 - J — Jb ¥H| me/L | 0.005 —
46|15 H # ( TOC @ & )| me/L 3 0.4
47 [p H fi e 73
48 IS Rl BEL
49 (& K Aol | EEZRL
50 | | 5 LA
51 | L 2 0. 1Al
33 5” i) #E| mg/L |01k 0.4




A b T RGEIA TR EET- OB )
JFUKRBR RS A (AT K5 Rt — Bk %)

&wE E E 4| B L 10 7 SRhi ¥ &
Ly — i il ImlH
2| K 1
3| W FI T A K OZEDONAAS W | m/L
40k 8 k& O %2 o b & W | mg/L
5l v vy kX F 0L A& W | meg/L
6|l ¢ K O &= o I & W | mg/L
e £ 2 v = o f{ A& W mg/L
gIox M - 9w A qk A& W] mg/L
N Eiil fil§ i fig = | meg/L
07 vtk &> T U mg/L
11 |8 M2 & = F K O W M % 8 %= F| mg/L
1217 v % kX »* 2 o b & ¥ mg/L
BIx v £ &k O 2 o kb A& WP mg/L
14 | i) 1t 7% | mg/L
15 |1,4- ¥ * e A | mg/L
6] > 0 Sy P a s s Y e
17 |~ 7 = = A 74 Y me/L
8y ~ 7 7 v mwm = F L U mg/L
91~ v 7 v = F L mg/L
20 |-X Vg z ~| mg/L
21 | # fiZ| mg/L
22 |7 = = FE W[ mg/L
23 |7 o = AN JL 2l mg/L
24 |~ % = = P W2l mg/L
2%l 7 v = 7 v v X % | mg/L
26 | = H fiz[ mg/L
27 |#& | N N 7 A X V] mg/L
28 |~ ) 7 = = P fi[ mg/L
2917 v = v 7 v nm X % | mg/L
30 |7 =: E RN v A me/L
3 v A 7 v 7t Rl mg/L
2 H K O = o b & W mg/L
B v = s kR E OIS B mg/L
Ml &£ o = o fb A& | mg/L
B k= o b A& W meg/L
Bl r Vv oA KW E O A W mg/L
3Nl v v Kk O & O b & W mg/L
38 |4 1t 2 A Z >| mg/L
9P vy s, w7 x vy onm (B E)| mg/L
40 |7 3 33 w Y| me/L
4112 4 A > K m W M | meg/L
42 | £ 7 A N > mg/L
4312 — A F v A4 YV KR ) % A — | mg/L
41k 4 A o KR om & M Al me/L
457 - J — v Al mg/L
615 #H w» ( TOC O =& )| mg/L
47 |o H il
48 IS
49 |2 £
50 | & gl K
51 | Bl =

10 7 i
NI ( 5 = oA )
Hik & M 3 i 100mL 1}
10 7 SEhi ¥ 7E
7 UV 7 b 2K U Y U A
v 7 % v 7




A b T RGEIA TR EET- OB )
JFUK R RG A (R K5 %t —

7K )

BRNTHE
&wE E E 4| B L 10 7 SRhi ¥ &
Ly — i il ImlH
2| K 1
3| W FI T A K OZEDONAAS W | m/L
40k 8 k& O %2 o b & W | mg/L
5l v vy kX F 0L A& W | meg/L
6|l ¢ K O &= o I & W | mg/L
e £ 2 v = o f{ A& W mg/L
gIox M - 9w A qk A& W] mg/L
N Eiil fil§ i fig = | meg/L
07 vtk &> T U mg/L
11 |8 M2 & = F K O W M % 8 %= F| mg/L
1217 v % kX »* 2 o b & ¥ mg/L
BIx v £ &k O 2 o kb A& WP mg/L
14 | i) 1t 7% | mg/L
15 |1,4- ¥ * e A | mg/L
6] > 0 Sy P a s s Y e
17 |~ 7 = = A 74 Y me/L
8y ~ 7 7 v mwm = F L U mg/L
91~ v 7 v = F L mg/L
20 |-X Vg z ~| mg/L
21 | # fiZ| mg/L
22 |7 = = FE W[ mg/L
23 |7 o = AN JL 2l mg/L
24 |~ % = = P W2l mg/L
2%l 7 v = 7 v v X % | mg/L
26 | = H fiz[ mg/L
27 |#& | N N 7 A X V] mg/L
28 |~ ) 7 = = P fi[ mg/L
2917 v = v 7 v nm X % | mg/L
30 |7 =: E RN v A me/L
3 v A 7 v 7t Rl mg/L
2 H K O = o b & W mg/L
B v = s kR E OIS B mg/L
Ml &£ o = o fb A& | mg/L
B k= o b A& W meg/L
Bl r Vv oA KW E O A W mg/L
3Nl v v Kk O & O b & W mg/L
38 |4 1t 2 A Z >| mg/L
9P vy s, w7 x vy onm (B E)| mg/L
40 |7 3 33 w Y| me/L
4112 4 A > K m W M | meg/L
42 | £ 7 A N > mg/L
4312 — A F v A4 YV KR ) % A — | mg/L
41k 4 A o KR om & M Al me/L
457 - J — b Al mg/L
615 #H w» ( TOC O =& )| mg/L
47 |o H il
48 IS
49 |2 £
50 | & gl K
51 | Bl =
4A15H TH Ehi T E 10 H St ¥ 7€ DS ipig
NI ( 5 = oA ) Mg
e £ M 3F el 100mL 0

7 UV 7 b 2 K U ¥ U A

DX e % % 7




A6 B T AKREEASTBE T OKE RS E)
1 K 5 Rt — HT A 7K I Hit)

JR KRB A (e

RN
Fl A H % H AL 10 H ST &
1| — fix il ImlH
2| K i
3l WK I v A K OZF O A % | mg/L
40 & 8/ Xk O % O b A& ¥ | mg/L
5l v v kB %2 o b & ¥ | mg/L
6 6 X O = o b B ¥ | mg/L
e £ K OO % o b A B meg/L
g M8 2 o= & fb A& ¥ mg/L
9 |& fiF§ %4 R £ | me/L
07 e 44 > k O T mg/L
11| B2 fig %= F Kk OV # M B # = FE| mg/L
217 v F k ™ % o 1 & # mg/L
B v £ kK ® = o k& ¥ mg/L
14 i) 1t R | me/L
15 |1,4- ¥ v * A >| mg/L
W 2L T T T
17l 7 = = A o > mg/L
8l ¢~ 2 7 v v = F L | mg/L
o v - v w = F L Y| mg/L
20 |% NG £ ~| mg/L
21 | K fiz| mg/L
22 |7 = = i Wzl me/L
23 |7 = = AN JL 2| mg/L
24 |¥ % = = e | mg/L
25 7w ® 7 m om X 2 v mg/L
26 | & e fiz| mg/L
27 |ia l\ ) N m A i > mg/L
28 |k ) 7 = = Wk fiz| mg/L
2917 »n = ¥ 7 v v A % v mg/L
30 |7 =: E N v A mg/L
31|~ » 7 o  F Kl mg/lL
20 K O 2 o f A& W mg/L
BT ArI=9 sk ®ZE oG P mg/L
M £ = o b & | mg/L
3B Kk O & o fb & W mg/L
6|17 MU v oA KW ZE O b A ¥ mg/L
3Nl v v kO % o b A& ¥ mg/L
38 |¥ 1t 7 A 7 Y| mg/L
9w a, v 7 xv v an% (M E) mg/L
40 |7 38 5% 4 Y| mg/L
4112 4 A~ A om & M Al me/L
42 |2 o vin A N ~| mg/L
312 — 2 F » 4 Y K" N 3 A4 — )| mg/L
40k 4 F o K om i M A mg/L
45 |7 - J — % | mg/L
4615 W O ( TOC o B )| mg/L
47 Ip H fiE
48 IS
49 | & £
50 | gl E
51 [ gl E
10 7 32 ¥ &
NI ( & 1% oA )
B = P 3 el 100mLH
7 UV 7 b A2 R U Y U A
A 7 JL v 7




Ly L T A ER A TS T - O E B )

KBRS (e

1 K SR —

BEFE R 1K HE)

BRNTHE
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Ly — i il ImlH

2| K 1

3| W FI T A K OZEDONAAS W | m/L
40k 8 k& O %2 o b & W | mg/L

5l v vy kX F 0L A& W | meg/L

6|l ¢ K O &= o I & W | mg/L

e £ 2 v = o f{ A& W mg/L
gIox M - 9w A qk A& W] mg/L
9 | fil§ 1% A& £ | meg/L
07 vtk &> T U mg/L
11| B2 #& = F Kk O # M B B % F| mg/L
1217 v % kX »* 2 o b & ¥ mg/L
BIx v £ &k O 2 o kb A& WP mg/L
14 | i) 1t 7% | mg/L
15 |1,4- ¥ * e A | mg/L
6] > 0 Sy P a s s Y e
17 |~ 7 = = A 74 Y me/L
8y ~ 7 7 v mwm = F L U mg/L
91~ v 7 v = F L mg/L
20 |-X Vg z ~| mg/L
21 | # fiZ| mg/L
22 |7 = = FE W[ mg/L
23 |7 o = AN JL 2l mg/L
24 |~ % = = P W2l mg/L
2%l 7 v = 7 v v X % | mg/L
26 | = H fiz[ mg/L
27 |#& | N N 7 A X V] mg/L
28 |~ ) 7 = = P fi[ mg/L
2917 v = v 7 v nm X % | mg/L
30 |7 =: E RN v A me/L
3 5 7 o F kR mg/L
2 H K O = o b & W mg/L
B v = s kR E OIS B mg/L
Ml &£ o = o fb A& | mg/L
B k= o b A& W meg/L
Bl r Vv oA KW E O A W mg/L
3Nl v v Kk O & O b & W mg/L
38 |4 1t 2 A Z >| mg/L
9P vy s, w7 x vy onm (B E)| mg/L
40 |7 3 33 w Y| me/L
4112 4 A > K m W M | meg/L
42 | £ 7 A N > mg/L
4312 — A F v A4 YV KR ) % A — | mg/L
41k 4 A o KR om & M Al me/L
457 - J — b Al mg/L
615 #H w» ( TOC O =& )| mg/L
47 |o H il

48 IS

49 |2 £

50 | & gl K
51 | Bl =
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NI ( 5 = oA )
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2| K 1

3| W FI T A K OZEDONAAS W | m/L
40k 8 k& O %2 o b & W | mg/L

5l v vy kX F 0L A& W | meg/L

6|l ¢ K O &= o I & W | mg/L

e £ 2 v = o f{ A& W mg/L
gIox M - 9w A qk A& W] mg/L
9 | fil§ 1% A& £ | meg/L
07 vtk &> T U mg/L
11| B2 #& = F Kk O # M B B % F| mg/L
1217 v % kX »* 2 o b & ¥ mg/L
BIx v £ &k O 2 o kb A& WP mg/L
14 | i) 1t 7% | mg/L
15 |1,4- ¥ * e A | mg/L
6] > 0 Sy P a s s Y e
17 |~ 7 = = A 74 Y me/L
8y ~ 7 7 v mwm = F L U mg/L
91~ v 7 v = F L mg/L
20 |-X Vg z ~| mg/L
21 | # fiZ| mg/L
22 |7 = = FE W[ mg/L
23 |7 o = AN JL 2l mg/L
24 |~ % = = P W2l mg/L
2%l 7 v = 7 v v X % | mg/L
26 | = H fiz[ mg/L
27 |#& | N N 7 A X V] mg/L
28 |~ ) 7 = = P fi[ mg/L
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